2.

3.

- PART - I |
*  GENERAL KENOWLEDGE AND APTITUDE TEST

The following amcndmept is called a mini constitution o_f Ind_ia.
(1) 44= Amendrﬁent | . (2) 42" Amendment
(3 .69”‘ Amendment i (4). 61+ Amendm_em
_ cpvcso.‘w 5:5 oreRgoRom® T ODECs TR,
(D) 448 st (2) 42053

(3) 691 5ade @) 615t

The 'Hutli’ mines in India are famous for ,.....oouvcee

(1) gold (9 " ‘uranium-

37 coal (4) bauxite
m%ﬁ‘n *Smé’ es %38 50 .................

" (1)-_ason=éso' o | (2 cnsdawe
(3) &1 | . (4) w3S

This 1S .a substance secreted from a number of species of insects.
(1) coral - ' {2y pearl

() glue ' ‘ (4) lac

O §¢:$-z3°6.‘9w ook (o dTrke. |

ay see - @ aep

(3) we¥ | _ | (4) oY,

RB-11 [2] -
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4. 'Rani-ki-vav' which has been declared as the World Hentage Site-2014, is an

11% century stepwell located it ..

ey
£

k‘::--»\j-f:(l) Gujar"at - (2) Karnataka
1 Haryana o (4) Rajasthan

@srao:s :5'*5:&-&35 @%4014 T %30l :cnpa_a_::w e 11 3 %I AR5 &

(1) rowcs | @) sous
@ o @ oudS

EALTS

5. . The following state has become the first Indian state to observe the 'Child
~ Protection Day' in collaboration with UNICEF.,

At Slkklm ' ~ (2) Tripura

3) Meghalaya o 47" Adsam

 codp &S sed ‘%‘Eo SCCRET 080730 2lopsy 008y BadKed 2;°€5¢5 % e,
(1) %o . 2 @&

(3) oprecn - L (4) wire §

6. A ﬁimp’o paper test'bas been developed to detect cancer by this scientist.
s .mhurd Plcm ' (2) Sangecta Bhatia

-

(3} Angela Merkel _ | (4) Harminder Dua
B0 BOfPr0s ob oogmes Sk B w LrEPoBOS 0.

(1) 8552 @ schepdar

3

(3) DoBoatss | @) b

RB-11" ' _ - [3] ' Turn Qver



7. The indelible ink which is used during elections, contains this éh’emic al.
{1) Sodium iodide 4 | (2) Cellulose acetate

(3) Silver nitrate MJ/ Potassium permanganate

Do BoiskeE® EISIICS DR bor 6 ot tiRakie.

(1) aowo wdaph . (2)  soxSEERAS
(3) DolpRd (4) DPerdune Wonold)
8 Ka_lisir'ldh super thermal power plant is located at Shalawar districtof ..........
7" Rajasthan (2) WMaharashtra
(3) TamilNadu . (4)- Gujarat
brpenB BEpE® diigy 90205 556 4,5 595 FRIG BUA G TP vvveeeee |
(1) ours - | SDANS)) '-:n;asc»@
(3) BETE @) oed
#.  'Entomology' is the scientific study of .
(1) aniraals, & inscets
(3) “hirds | (4) human beings

Downrod &R -‘a‘fidia IR0 oot

(3) wgen (4) SPSYes

R3-11 - [4]
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10, ' '‘Durand Cup' is associated with the game of ......oouuenn.....
(1) football " (@ cricket
(3) volicybzi!l 47" hockey
L | ‘C::sc'oa.ﬁ’ (Durand Cup)"..a:ﬁo::qgfpc;)‘éweo ..........
(il)t SErE | | | | 2 @S5
) wben§ , B = 4) A

RB-11 : [5) Turn Over



PART - i1 (A) | m
GENERAL ENGLISH , C
1. Sportis.......... (interesting) than pohtlcs

Choose the correct comparative form for the word given in the brar ket.
) ;

(1) much interesting _ (2} mostinteresting
(3) very interesting _;A( more 1ntere .tzng
1z. I'm not speaking to Hari. I'vefallen............ with him.

—_—,

Choose the right preposition that fits the blank.
(1) out . (2) away

(3y” thr_ough P O ) back

13. A:Haven't you got cnough money [or a holiday?
. B:Ohyes, I've got some saved ap ....... 1 suddenly need it.
Choose the correct word to complete the conversation.

(1) that : - (2) if

Mi_ncase " (4) unless’

L

14.  She proncuncea the word guite correctly.
The part of gpeech of the underlined word in the above sentence is a/an -

{1) preposition | ' (2) adverb
(3Y verh . o . 4T adjective
1/ Thecoliective noun used to describe ‘a collection of ships or vessels' is ...........
e
%/ acrowd (@ aflock
(3) afleset "~ (4) anarmy

REB - 11 - (6]



t6.  The plural form of 'self is

._Lk)/selvs « A A (2) sclfes o

L)

(3) selfs (47  sclves

\7.  'The dog was hit with a stick.'
The active form of the above sentence is

(1) Somebody hit the dog with a stick -
/ - 1 .‘ I
£2). Somebody hit the dog by a stick
(3) The dog was hit by a stick by somebody . o |

[(4) Thedog was hit by a stick

t8.  The most commonly used 'leave taking'in business lettersis............
(1) Yours Lovingly _ {497 Yours Affectionately .
(3) Yours Faithfully AR Yours Sincerely |

19.  Choosc the wrongly spelt word [rom the lollowing words :

\(’f)/Cmceive (2) Receive

(3) Releive (4) Deceive
20.  Ithinkthat's ... (awful) thing to say.

Chooze the correct article that, fits the blank.

@ awhl | @ 45 anawful

(3) “the awful 4) aawful

i3 - 11 (71 ; Tuen Over



PART - II (B)
GENERAL TELUGU

21, LoUR 00" (S B0t 5D wUIF3 LEGPioD BHEID SPO0 o,

P gnv - g | T (2) 3_3595@0:50
1) e 3ok (4) WX Bad

99, AahrtEi SO Sy 000D e

- @1 W i _ 4 RS

23, w0 05 &0 DB KO eaOVEED oo

(1) Brsow SRTRcion 7 o _(2) " BorsEn0 JGEdero
(3) Bodow ?omc?.’»:;;.“_@ 450 ) ot TR

24, R €95 SRS BOOUNED <rvervensivreerns

(1 oo RN = (2) oot

3y 858 el | 4y towe

25, | ogde YLD QS 2R ADC @b&@bﬁcﬁ’ - m: 55553“650533 T,

1) wbird | 42 sy
1) LorsEe . (4) asarde

BRI 11 18]




26, ‘w8ON - ko dTRd elo.

D wgd

5 2). wxd
3) &8 - 4)  Buwd
27. ‘éma&ébééo"-es!ﬁo§;§°:éo@é3m&’b....-..-..........'_...
(1) o, ool ‘ @ @ TG
i3] e SONSEE e (4) /o= {3;,‘”"':;93:#‘,3:?.".}
28, T B dSOIAOD TR TENR0 o
(@/ e T u (2) SR Trseo
(3) Do | A Sagme
20, CRHE’ ek (500 B BI0D wuleiesennrserses
L5 e | @ ub5ucs
@) omEoRe 4)  asBhow
30, i 0onte! 15065 BB . s
(1) Eom S0 SEERucio (2)  SaTO LIRS BETFEae
(3)  TRps GBS Miprtaie M TS B SHEPEcke

RB-11 - 9 " Turn Over



8L %cﬁ:ﬁa‘ﬁ@w%ﬁ..‘ ............... »
D o9 . @ e |
g w::)céo | 70N
B2 OTOhEE et - e B DBEreDRD WSO
) Rowy (2). o Sy
T @fm & :.5.‘ Bolesryesgo R &g;ﬁééw@

Bl TR L @020 T g0 S8 - et T, D, Btire Sotor NS Do,

QT 2.5 eoSo8550 P> LT 1SNe &0 | L (2) e e &t T estiodioe
g ! o b . “ = g
(3) egdio & T eloinn 153 ' (4) s e upito e:;_l .5 esogio

M. 8 At g Ted o o e prod Bo7 - e BRI B SIS D008,

ﬂ{ &tyoire _ (2) Lo
(3) wodeo N (4)  wreo

-

U6, B33 U g Stio ol Gy wolielyg B 50,

(1) s ' | (2) 0y
{:},37 BEEPLS | @) oo

RIt- 11 _[IG]



36, wrEoedd BOTANOE0 @ UHORID s

(1) Bsdpeio ) oo

(3) pPpoee (4) ol YT,
Wi AR - e

Gl’)/ ol TP (@) Sy o

(3) HYOTE (4) i N
58, D% EEERem o FRB B0 i

(1) Sooo% @ 5

(;i) 30 (4 KOy |
39, Sub@lonn B0 SoRITRED e

(1) Bsolo BRarisony (B Dl groaion

(8) om0 u_,&c%mtr, il (4)  IooRIts $oos ¥,

. é‘tﬂw

40.  oxres’ w3 HEdl - Tlibtrbe ag"pﬁ)

(1) H08+ = (2) 200k + ese

3) Gl + S0 : /({) Kool « OO

iKB-11 (11} Turn Over-
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42,

—— .

43,

o @
o 4 K 12

PART - I1I (A) ' C ]
MATHEMATICS

L 1

In a AABC ,'the midpoints of the sides Ia-re. D E aﬁd F. Ifthe ﬁerimeter cfthe
AABC is 16 cm, then the perimeter of the ADIE iS ceveeeeeviennn. cm.

D, E 300ck0 F oo AABC fowre ‘:»q% Hotiogpws. AABC wenklod 16 He.d0. est.m:é
ADEF 501350 (350.5.08%)
(1) 8 32

AB is achord of a circle with center 'P' T [PAB - 30% then [APB I8 e,

P Sogsisadn No {gaos’ AB wiers |PAB = 30 0o |APB D055 reereerereren
( ]) 900 3 y \.},‘%, : 600 4 . . i .
3 150° | @ 1200

The angle of elevation of the sun, when the length of the shadow of a tree is

J3 times the height 6fthe treeis .........in.0.

.5 Dgy Gy DES ey T wigs 3 O Spancasd 5D G, Ea58%0 .
@ 150 @ 300
(3) 45° 4) 60"

RE

Space for Rough Work

N
i oo U
‘/{\' pal ’
&
i1 - 12}



15.

406.

C

If the cost price of 21 articles is equal t.o‘the selling price of 18 articles, then

the gain percentageis.........c......
21 WS Siyme 18 Siedw wlond ?355 BEIEE00 00D COFTED L oeerieee s
1) 15% | @ 1%

"(3) 162% - /(45‘ 16%

If a sum of money at simple interest doubles in 6 years, it will become

4 times in ..7'. ............. years. ,

rgiies v Lwssas Fod Jisay 6 Sodtnes® Do ek, ed s, 4 T e
98 Todn (Bonwd')

(1) 14 - | @2

(3) 18 j . A6

If the length of a rectangle is halved and ite breadth is tripled, then

the percentage change in ATEA LS |..louererrness
(1) 50% increase | /"2’5 | 25% increase
@) '50% decrease . (4 25%decrease

2. BESEOOER Glot, P IFIE Biod B0 eyt Tares iy T Pregns®

STURTHID . oveeiresisarend . :
(1) 50% dSoicte (2)  25% 2okste
(3) 50% oitxse ‘ (4)  25% Bhxse

Space for Rough Work

rRB.11 . 13) | Turn Over



47, If the sum of n terms of an AP.is 2n® + 3n , then the n® term is ..ococvevvees

2.5 e0oSEGE" n Srro oo 2 +3n QOGO 71 30 SRR <rererrennsens
() 4n-1 |

& ¥
27 4n+1 '
(3) 2n-1
1) 2n+1

. oy & | 11

a8, 1f (4.8)" =(0.48) =1000, then the value of 718 wurericysee
. , U

(4.8) = (0.48)" =1000 50000 el DI eeeerrerens —
(1) -3 .

(2) 3
(3) ) ‘
3 _

1

@ 3
—.Spas’:e for B.ou;.ﬁ:Worl'c :
y 1 '}_ . ;

\’_ s - \ 3 \ e — \UU

N 4 51 EAYZER 2

14 -11 _ [14) -
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ettty b

C

40, If Log2=0.3010 and Log3=0.4771, then the number of digits in
1222 ig .50 : .
Log 2=0.3010 %8052 Log 3= 0. 4171 eao:a‘é 12 6 w80 B0Pyg ccvivei s
(1) 13 ¢ 4 2 12
()4} 5 - @ 1
0. In adivision problem, if the dividend i is 1261, the divisor is half of the Wotmnt
and the remamder is 11, then the d1v1sor 18 venererenrneenes
aﬁmﬁéé&éﬁbwe@ 1261. graian e;vﬁéooﬁs‘éﬁo m&dm?%;s;fm 11 oo prestis
4L R, '
(1) 20 g (2115
- 5o @ 25
51. The square root of (ab—ac-—bc)2 ;Hlabé (@ +b)is..0.. —
(ab.—ac—bc)z +4abe(a-+h) G321y SAOTERIN v ionln o
(1) ab-bec+ca
(2) ab+bc-ca
3 ab-be-ca
(4 ab+bctca
. Space for Rough Work | B
5 : ( . o ] ' ] :.? {."r
VNG ( ' F R Sy : ',-L ,
O } ) ; € ' s o _ ' B |
P e i h
o \,\“' (%
Ym0
!
: CE
o
b ki

: " RB-11 [15] Tarn Over
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The equation of a line whose x-intercept is 2 and parallel to the line

vt y-1= OliS ............

-----------------

v ry -1=0 3EAPoBtion dolar x-edipotsin 2 1 Ko Tp BRostirste

_Wl/2x+y+4:0

14} 2x+y——4=0: '
3) 2x+y+2=90

() 2x+y-2=0

Thelength of the side of an equilateral triangle inscribed in a circle of radius

ol 27T 5 | ———— crm.

6 750,50, e fio Wgodt w3 Sioemir [Beiorin 400G (S, b @toran gowin Fos
(l‘ac.i’):—cxﬁs)

(1) 33

) o3

(3) 63

- (4) 443

g{mce for Rough Work

RIi- 1! : [16]
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54. If'f isaconstant function and f(2)=10, then /(5) isc.ual to ... e

% 30 Ehocos Sofato f(:z);_-m 20D [(5) DB covverinrerins
ST '
@ 5

. 50
4y 20
65. Ifa aﬂl; , then the condition for x* + ax +b and x¥¢bx + g tohave a common
_ HoBtis reneana
a #b wod x* rax +b WO x? +bx b 05 CLaR KR > EOPDE DO ...
(1 a=b |
2 a+b=0"
(3)_ a+b=-1
4) g+b=l

— e

Space.. for 'I.i,-ough“Work

C”‘i { b £ ub"s‘f J§ 8 }A\) _ (

5 . B - \9

T E E v ,2\ ’C(}); - \(1/\‘).,0
;J'.'J:‘. . | LS—) ’,‘]/0 Q
WA kL %‘(LUD /,. k

RB-11 . - 1N . . | Turn Over



58,

B,

" In an AP, thé p™ term is '¢' and the (p + ¢

1

. _
1 .
(2y+;—3;J &5 D3 DRI 1vvvereenen, |

(1)
(2)

(3)

%

Wloe e idd oW

Y™ term is '0' (zero). Then the

g termis ..,

| 2N eosBdE p' 55t g 1001 (p 4 @) 9 950 10' (155) s g 58D v

MO p

T b

(3) p~q'
(4) p+q

gpace for Rough Work

- 11 (18]



B8 The solution of the equatlons 9% +h2" =20 and vy =B I8 i
9% +27 = 20 WO x +y = 6 EDI P ZOED 1 rersv - '
1) 3,3 ; o L 2.4
(3) 4,4 {4 5,1

t 59. The aver,ag_e.marks of 50 st1 dents is 80. If the marks of one student

are taken as 73 instead of 37, th»n the correct aversge is .

50 53500 DPEE0 WA, 81> 80, 1. DIQ R0 BT Fiations T8 4D Wb B weasd

-’\(-‘.

RSO BRI erversiaerrianes
(1) 79.28 o A 80.72
3) 76.28 - (4) . 78.28
' §0. Themedian of the data 15%, 15.03, 15, 153; and/15.3 is
B " )
‘15%, 15.03, 15, 15% “ooair 15.3 oot o, BB evvenesses "
S 15.33 - @) 153
(3) 15.66 N 4) 15.03 X8
\ Space for Rough Work
v O Gy T B
L e Ny - : v 2 P ¢
6 L] l__-.) - oy Bl . ,{’ -~ ) ( ¢ !
' £ 1 L g 4yl
1 \ 5 t . I. \\A [
& J1y 2t & !

[19] ' Turn Over



PART - II1 (B)
PHYSICAL SCIENCES

@1, Time periodofa simple pendulum depends mainly on the ... Do

(1) shape of the bob
8T 1erigfh-0f the pendulum
psoeisin Gty e
(1) Wi G, w0 B3 |

(3) Sosans Qoo PE B

2. 'l‘hé nature of thr—; iilﬁal inﬁage [ormed
Q) erect”
| /C})"'inverted'
(3 diminished

(4) neither inverted nor erect

i R E R 0 OB Do, TR

(1) T
(2) Bodolow
(3) “agm«om

(A) DoBeET Lo 000K DT

inth

(2) mass of the bab

(4) material of the bob

T wloheal

-----------------

() R G, L0 P

(4) S St Bosowds Sego B

el

.................

43 Thecharge of protonsin Coulombs is cowemereerrenses

@&f‘ﬁamwwweés .................
(1) 1.602x107
w/ 1.602%107%"

RB-11 ' [20]

(2)

(4)

1.602x10™°

1.602x10°%

o nstronomical telescope T

66.

G?l



O

64. When abody is in a uniform circular motion, the physical quantity that remains

81,

constant is

. (1) Hnear velocity & b (2) angular displacement |
(3) angular velocity 4 centrii)etal force .
'w-:@@-m%u;swcs oo’ disits Yo ol o8 * ......
(1) Shaodne - L@ Sdan Iwgow

£3) 565‘305.72‘3(10 : | @ efBolesso

Diamagnetic substance from the following & ...
(1) air o (27 " oxygen
& iron S \(4)/nickel

1800 TOE" R ety o SRS i

Q) ™ XN () edps
(3) Fdosw g, 4) mE&
The fdnnulé for épsom saltis........ ik
%be:ﬁﬁﬁ»&:%&%@ ..................
(1) MgSO, 650 | 2) MgSO, 5H,0
(3) MgS0, 8H,0 B &H/ MgS0O, TH 0
The refractive inde:; of a diamond is ................
D0 S0ty DB 0P cercverreenenns
(1) 2.32 | @) 241
(3) 2.14 | @ 223

RB- 11 e et (21] - Turn Over



8. Choose the physical 'quantity'that is different from the others.

- (1) Velocity (2)  Length

(3) Acceleration (4) Force

300 P08 ToE® R 5% TOY 0.

s e - @) ey
(3) &beso (1) o

69. Choose the equation showing the corroct relation between the Centigrade and;-

Fahrenheit divisions.

B4 300 TIE oG, PRTen eprre Kaly HOSLI Bowory DDoITHH $hsKLeso.

(1) 100°C = 180°F ' . (2)/ /180°C = 100°F
Mzﬂc = 100°F (4) . 100°C = 212°F

70. Number of grams of carbon dioxide liberated when 10 grams of caleium

carborate is heated is ..o £rams,

10 rissse e svs‘aﬁﬁmﬁaﬁg; DTS S T e 4P [0S v
(1) 44 ; 5 352
(3) 185.2 , (4) 44

RE - 11 | [22]
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PART - III (C)
BIOLOGICAL SCIENCES

Examplé of thé particulate pol]ﬁtant relcased by automobiles using pet:nl

1 :
(1) chloroflouro methane (2) tetraethyl lesd
(3) soot, :  {#~"carbon monoxide

L]

256 D SSRGS TRTe Bo0 Dikotso ey Ero i /TS STNEREE s,

(1) $EFF L0 @ Dergy S

(3) _:3:#5 R (4) =503

The instrument used to.. RMR (Basal Metaholic Ra. @il 3
: ) ,

(N m‘i(:rﬁmutnr " gphiygmomanom.

(3) s_piro_mete'r | . 1) “oter

ES‘@S?::@W&E'_&» (BMR) 2 S ommt3 s BrRoss 50850 v

(1) wEReb N (2 :’;Qﬁ"&w%&

3) pFoob . 4) 7ERwb

In submerged water plants, €0, diffuses through the ... .

-1) guardaélls : | (2)  xylem

(3 epidermis (4 stomata .

S5 300 S0t 2,08 CO, (ST BB ) DT D500 DOEIPOE orevvrerc

(1) &S Sewe> (2) ortolesePeiod
’{ £ X5 (4)  sstogres

'B-11 7 23] | T



74.
9/ vasopressin | ” | ) {2) insulin \
- (3) glucagon i {4) adrenalin - _
EasrBiERPeE T v R0 o Sealitood Pyt
(1) S (2) 05
o) KpEes | (4) . DS
76. The membrane in the embryo which establisties counection with the walls ol
the ut_ertis and helps in the ‘sul;ply of nutricnts and removal. of wastes i
- b vssassscons : | R
(1) mesoderm _ (2). cctoderm
(8 chorion o _ (4)_aronion
oo Yot & 50820170 AR e SRy s eotsiaio 6, DS RETe
BB CoES SISO DG . fovnircrerait |
H{mﬁgﬁm | (2)  whsEse
(3) sTcsd | @ o
76. Deficiencyol ... vitamin caus;es sterility in males and abortions in females
(1) retinol ., (2) calciferol
(/: phylloquinoﬁe : | W tocopherol
tissoud® oo, oS HeRrD) Sealifa eatioly oo
ORI | @) ooues
@ waFs . @) b
RB.11 (24] - " 4 R -

[}

Diabetes mellitus is caused due to the deficiency of ...cvvnrrniens



77.  Silkis made up of a protein called ................. |
(1) fibrin 3 e 2/ - albumin
(3) fibroin : (4) fibronectin

(1) 285 B (@) ednmS
3) P’ (4) PR

78, Which one of the following pairs is not correct?

(1) CRRI - Nagpur /(»/ 'NIN - Hyderabad
(3) CCMB — Hyderabad - (1) /NS~ Lucknow

el

%4 300 TRE VOIS i FRO?

‘() CRRI-wRyf (2) . NIN - 3prend
' (3) CCMB -ppwd (4) ISR - o8, .

‘7.  Which one of the following is énonﬁlam\mtous fungi?
g /(,1')/ Yeast | (2) Mushroom .
" (3) Aspergillus - ) (4 Mould

4 300 s .53 e Boed Remevo EBAcuoUD 2bogren? ‘

0, #H- | L 2) By
T (3) Dfed , . (4) W%
80, The chemical which induces polyploidy in plants is ...
(1) atropin |- (2 camphor
f/&ff ~chlorine ; (4) colchicine

' 0,08 FOIood (winddy) H SeoliEcio BIaide,

(1) @@5‘::5 (2) b
(3) %05 o (4) SEaS

RB-11 | | [25] ) Turn Over



PART - I (D) [ C -.; .
SOCIAL STUDIES |

81, The largest anacondas in the world are found in this natural region,

}H/ The oqueitoria! région L

(2) 'The tropical bot deserts

'lB): The mons(;un land

(4) The tropical grassland region

@3:50’:);:6'“30_: apiano widsSiol $yeo Ba BHS ."ocg Tootioed® dowran.
(1) gty Sy loolioo

(2) GRS IEHhes | |
(3) ety B W00 R

——— (4) aggoctio SRSV oo

¥2.  The government servants, ‘Mandarians belong to this civilization.

(1) Ancient Greek - (2)]  Ancient China

53')/ Ancient Romah ‘ ' .' (4) Ancient Pérsian | '.
i ordin ’@sai:a"ps SER Q00 &1 RRIGEEE DEOST.

1) -@aa | | _ @) '@-b:s;_;:;v

(3) b BRad (4) D0 oo

83, The power of judicial review was restored through this constitutions
L4

amendment.,

3 TR 5005 TR0 P Do Rmany S04 30,0080 =0neD.
) 40 @ 39
(fl) 44 | (4) 41

wB-11 26)
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- 84,

The river that risesin fhé Brahmagiri hills is the
(D Mahanadi | = Y .(2) | Cal'n;e.ry :
(3) Tapi (1) Narmada

- A0 S0t DS e, '

'(_ll) o980 (2) =0 L
3) ®isd | M) o

The classification of climates based on the watcr halance concept was given

Sk

('1) Amartya Sen (2) Koppen

(3 D.R.Gadgil | /" {4)_ Thornthwaite
;mms LS et -’3‘5%,?3‘@&:6; HRE00UD s

@ u::;’gsf":sl k L0 (@) e

(3) & el Gl (4)  ohgd

This shipyard was set up with Japanese collaboration to build very large ships.
(1) Mumbai - - (2) Vishakapatnam
(3) Cochiri o yf{ Calcutta

PSS RO 2003 NG ... ......

(1) | soomma N (2)  Drgsgree
(3) 5 __ @) S
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" The king who appoin
(1)I Louis Philippe
(3) Napqleon 111
2EOE5 o ey B5FS :.:»o@m Jcfansoms oo
1) era s

(3 I IFOD

-----------------

Dilwara templeis situated at
(1) Ooty
(3) Simla

Benr BPoc®0 G RIYR e .

SO =

The coﬁntry that was humiliated
(1) Turkey.
48] Indenesia

s

(3) elShow

@)
(4)

------------------

(2)
4

(2)

(4)

by the Freaty of Sevres was

@)

(4)

B 150 B eSO QIO B wunvneresisnsns

(2)
(4)

1
]

i

Charles X

Napoleon

Mount Abu

Srinagar

B300sS estad

e

ted 'Poligna' as the prime minister of France was

-----------------



90.

9.

C

-In 1937, during the elections in the British period, only these f}eople had the -

right to vote. - Y ..
(1) Farmers C | (2)  Soldiers
(3) Everybody : o - (4) Educated

1937 Hcitol’ DUR$0Fem eos’ ERTORN aaagee:'" 508 S Lo Iy, o8B

[}

(1) Do _ (2) %

(3) eotsod | @ g

The newspaper, 'Iskra' was edited by .................

(1) Lenin (2} Mussolini

(3) Cavour | . (4) . Hitler LA

OIS TSGR SOPEBGO RPOED i,

(1) 838 , 62 TP X 4%

(3) wrb RNy 4y e

In India, the national sample survey treats the under_employed as thosc

working for less than these hours per week.

U5 TS bl ST 38 oD g2, otw Sodd B0 BB TN ey 4P Yoo

ORS00,
1) 12 | we @ 10
(3) 1@ 4) 14
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B3, Thecyclonesin Australia arecalled ...............

(1) -Typhoone o B Cyclones
(3) Hurricanes _ (4 Willy-willies
eRdars* bgmeoe:sa 2 88 BROD oo |
() Sgroes @ s Nra
(3) ;':veé:a;w @ 2b0b
HAN Command area development programme was introduced to ... ...

(1) increase the gap between major, mediun: and minor projects ‘_
(2) brldge the gap betweon major and meuem pm‘onfa

(3) decrease the gap between major, medium anu mnior j)rogects
{(4) equalize the gap between ma;or, nmedlum and minor projects
el Do R ST, &% e ::;g_gts;

D ¢, boqssw, azg W3S lb‘&:‘ge: B0 BT, DoBE0S

(2) evé, 05 ee:ﬁ PR S0 BTN, eﬁorm:oé

(3) 9D, w0 RS Dy WU B0 Vst M0, BROUGIE

(4} enb, wots Besst, i Bss PRI By S0P, 500 Dot

95.  The salinity in the Baltic Seais.........

B e et . ... ...
(1) 8.2% | | @) 7.2%
(3) 10.9% = @) 9.2%
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98.

99,

On Decémber,22“", the sun rays fall fertically on this latitude.
(1) Tropicofcancer (2 Equator

(3) Arcticcircle _ C (4) Tropic. of capricorn
&rowb 225 &4 @?d&@é R’:Jﬁﬁsééwm VOBIOTI® WHTPC.

(1) wyde | @ rade
(3) eaabess".ﬁeo::q @) mossdy

Now we are in this five-year plan.

000 & oy @w’@év meos® &, g (\\C_.--\"‘?q
(1) 11 - (@) .10 > .,

_ | | i s (L
(3) 13 | <A 12 S 0.\/ ~

| N N N
Banks were nationalized in the year...... ... ¥ /( '}/_'
&fm%—::ﬁoﬁ%ﬁoé{’ @@Q‘iﬁ&aﬁo&w&m- ..... R s 3 o " /;:\
I : | - LT

(1) 1967 (2 1966

(31969 - () 1968

This British Goverrior General changed the name of District Supervisors as

Col]eci:ofs.’
(1) Warren Hastings : —~Z)  Cornwallis
(3) William Beritick (4)  Wellesley - -

Ts D35 Moty e st i5is pestiio MBI 60 Bonomcss,

B oSk, . () S
L B) S0owS Bouk | @ = 3

ith
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100. Regional rural banks were set up, following the recommendations of a working

- group he&_ded B szt . '
(1) Raghu Ram Rajan @ LV Subba Rao
(3) Manmohan Singh ' (4) M.Narasimkiam
.M"@bar; e DO LB Serta05 50,0F 10D e B DTHR30 DEDEDD,
(1) B oSoud | @ moulsemen
(3) wofyns Lo () e
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